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 : اختاري الإجابة الصحيحة فيما يلي  (1

1 
A  B C  D  

2 
 ABC   ZYX 
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 JKL   WYZx
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  ~  EFGH~  ABCD
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A ABCZYX B ABCXYZ C ABCYXZ D 

12
 XYZ   JKL

a

A 2.25 B 2.5 C 1.5 D 1

13
 ACDG   QYWT

x 

A 12 B 7 C 6D 5

14 

 WZX   SRT

ST = 6 , WX = 5 SRT18  

 WZX

A 90 B 24 C 20.1 D 15 

15 

 3  

5 
65 m

A 29 m B 39 m C 49 m D 59 m 
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16 

A AA B SSS C SAS D ASA 

17 

A AA B SSS C SAS D ASA 

18 

A AA B SSS C SAS D ASA 
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ADB∠

 ADB   BDC
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RQS∠MQN ∠

 QMN   QRS
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23
A B C D  

24 
AAAB 

A 7 B 10C 24D 49

25 
AADE 

A 8 B 6C 4D 2

26 
AAJK 

 

A 8 B 6C 4D 2

27 
AAQP 

 

A 8 B 9C 12D 14

28
AASR 

 

A 64 B 8 C 4 D 2.25 
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A 5 ft B 6 ft C 7 ft D 8 ft 

30 
40 m245 cm4 m

A 2450 mB 24.5 mC 245 mD 2.45 m
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 ACDAE = 9 , AB = 6 , BC = 4ED

 

A 4 B 6 C 8 D 36

33
 ACDED = 5 , AB = 12 , AC = 16AE

 

A 10 B 12 C 15 D 60

34
x

 

A 17 B 15 C 9.6 D 4.6 

35
x

 

A 28 B 22.5 C 18 D 14.4 

36
 WXZZX = 18 , ZV = 6 , WX = 24 , YX = 16

A ZWVYB ZWVYC ZXVY D 

37
 WXZWX = 31 , YX = 21 , ZV = 5 , VX = 15 

A ZWVYB ZWVYC ZXVY D 

38 

A   B C  D  
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BDACEAE

 

A BD = 
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 BDC BD = 2 AE D BD = AE 

40
 JHLx

A 3 B 4.5 C 9 D 18 

41
A  B  C  D  

42
36 , 37 , 38 

36 , 37 

A 250 ft B 360 ft C 440 ft D 500 ft

43 
A  B  C  D  

44
 x

A 2 B 4 C 6 D 8 

45
 x

A 19 B 9.5 C 6 D 3 

46
 y

A 19 B 9.5 C 6 D 3 
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 x

 

A 16 B 8.5 C 2D 0.5 
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JLM  QST

KMJLMRT QST

12JL = 36 , QS = 24 , KM =RT  

A 6 B 8 C 24 D 36 

50

RTS  EGF

TA∠ TGB ∠ G

8RS = 42 , EF = 6 , GB =TA 

A 56 B 45 C 34 D 20 

51
 x 

 

A 29 B 28 C 21 D 15.75 
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ABC  DEF

BG  ABCEH DEF

30BC = 60 , BG = 30 , EF =EH  

A 35 B 25 C 20 D 15 

53
 x

 

A 49 B 28C 18 D9 

54

  DB    BC  ,  FH    HE  

 ACD   GEF

AB

A 6.2 B 4.2C 2.2 D1.2 

55
 

A 1 ftB 4 ft C 8 ft D 184 ft 
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A  B  C  D 
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 x

 

A 8B 6 C 4 D 2

60
 b

 

A 18B 16C 14 D 12

61
 y

A 75 B 53C 12 D 10

62
 x

A 6 B 5C 4 D 3

63
 w

A 30B 26 C 19 D 15 
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